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GEOGRAPHY QESTION PAPER

MARKS-40 CLASS-X
Q1. Choose the correct options & complete the sentences: 4M
1) e is the national capital of Brazil.
a) Bahia b) Brasilia c) Rondonia d) Roraima
2) is the capital city of Maharashtra.
a) Pune b) Aurangabad c) Kolhapur d) Mumbai

3) The evergreen rainforests in Brazil are called as

a) Mediterranean forest  B) Lungs of the world c) Coffee pot of the world d) Roca

4) In India, salt is produced on a large scale in the state of
a) Gujarat b) Goa c) Punjab  d) West Bengal
Q2.Match the following:

Column ‘A Column ‘B’

1) Pico-de-Neblina a) Entertainment

2) Main purpose of field visit b) Highest peak in Brazil
3) Dispersed settlements in India c) Football

4) Popular game of Brazil d) Hilly areas

Q3. Answer the following in one sentence each: (Any-4)

1) Area wise which is the largest state in India?

2) Name the country which is promoting ‘Go West’ policy.

3) Which country lies to the west of India?

4) Name the largest river in the Brazil.

5) Which longitude in India is considered as a Indian Standard Time?
Q4. (A) Mark the following in the given map of India & give index. (Any-4)

1) Bengal Tiger

2) Thar Desert
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3) Tropic of Cancer
4) Eastern Himalayas

5) Mumbai port

6) Andaman & Nicobar islands

(B) Observe the given map & answer

the questions given below:
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Q5. Give geographical reasons f

1) What is the density of population in Brasilia?
2) What is the density of population in ACRE State?
3) Name the ocean to the north of Brazil.

4) What is the density of population in Roraima state?

5) Name the state in Brazil with highest density of population.

or the following: (Any-2)

1) Most of the Himalayan river’s flow throughout the year.
2) The average annual temperature in India is very high.

3) Snowfall doesn’t always occur in Brazil.
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4) The (Internal) waterways are not developed in Brazil
Q6 (A) With the help of given statistical data, prepare a simple line graph & answer the
following questions: 6M

Number of International Tourists in India

Years Number of Tourists (In Lakhs)
1) 1995 a) 21

2) 2000 b) 23

3) 2005 c) 26

4) 2010 d) 42

5) 2015 e) 120

Questions:

1) In which year highest number of tourists had visited India?

2) In which year lowest number of tourists had visited India?

3) In the year 2010, what is the number of tourists had visited India, inn lakhs?
OR

(B) Observe the following graph & answer the questions given below it: 6M
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1) What does the graph show?
2) What was the contribution of trade in GDP in the year 2010?
3) Which year shows lowest trade in the given graph?
4) Which year shows highest trade in the given graph?
5) What was the contribution of trade in GDP in the year 20167
6) Which year shows the 28% of GDP contribution?
Q7. Answer the following questions in detail:  (Any-2)
1) Explain the historical background of India.
2) Prepare a set of six questions for a field visit to a “Sugar factory”

3) Write in detail about wildlife in India.

8M

33




ANSWER PAPER- 3

CLASS-X
SUB: - GEOGRAPHY (PEPAR-2)
TIME : 2 HOUR MARKS 40
Q1. Choose the correct options & complete the sentences: 4 M
1)-----mmmme- is the national capital of Brazil. Ans- Brasilia
2) is the capital city of Maharashtra. Ans- Mumbai
3) The evergreen rainforests in Brazil are called as Ans- Lungs of the world
4) In India, salt is produced on a large scale in the state of Ans- Gujarat
Q2.Match the following: 4 M
Column ‘A Column ‘B’
1) Pico-de-Neblina Ans-b a) Entertainment
2) Main purpose of field visit. Ans- a b) Highest peak in Brazil
3) Dispersed settlements in India . Ans-d c) Football
4) Popular game of Brazil- Ans — d) Hilly areas
Q3. Answer the following in one sentence each: (Any-4) 4 M

1) Area wise which is the largest state in India?

Ans- Rajasthan
2) Name the country which is promoting ‘Go West’ policy.

Ans- Brazil
3) Which country lies to the west of India?

Ans-Pakistan
4) Name the largest river in the Brazil.

Ans- Amazon
5) Which longitude in India is considered as a Indian Standard Time?

Ans- 82.5° E
Q4. (A) Mark the following in the given map of India & give index. (Any-4) 4M

1) Bengal Tiger 2) Thar Desert 3) Tropic of Cancer 4) Eastern Himalayas
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5) Mumbai port 6) Andaman & Nicobar Islands Any correct 4, each 1M

NAME :.

NDIA STATES STD. : DI. [ DATE |
, POLITICAL ROLL: SEC.: I [ 2 |
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(©Government of Indla Copyright 1986  Based upon Survey of India map the ission of the Surve
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(B) Observe the given map & answer the questions given below:
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1)

2)

3)

4)

What is the density of population in Brasilia?

Ans- More than 300 per Sq. km

What is the density of population in ACRE State?
Ans- Less than 50 per sg.km

Name the ocean to the north of Brazil.

Ans- North Atlantic Ocean

What is the density of population in Roraima state?
Ans- Less than 50 per sg.km

5) Name the state in Brazil with highest density of population.

Ans- Rio De Janerio / Sao paulo

Q5. Give geographical reasons for the following: (Any-2) 6M

1)

2)

3)

4)

Most of the Himalayan rivers flow throughout the year.

Ans — 1) Most of the rivers originate in snow clad region 2) During rainy season
rivers are flooded 3) During summer snow melting cause floods.

Any related point can be considered for-1 M

The average annual temperature in India is very high.

Ans- 1) Tropic of cancer passes through middle of India. 2) India is in tropical region
3) winter temperatures are below 0 degrees & summer temperatures are around 50
degrees in some parts of india.

Any related point can be considered for-1 M

Snowfall doesn’t always occur in Brazil.

Ans- 1) Snowfall occurs generally in snow clad or Polar Regions.
2) Most of Brazil is in Tropical region.
3) Very high mountains are not there in Brazil

Any related point can be considered for-1 M

The (Internal) waterways are not developed in Brazil

Ans- 1) Most of the rivers flow at a very high speed. 2) The amount of discharge of
these rivers is very high 3) Rigid topography.

Any related point can be considered for-1 M

Q6 (A) With the help of given statistical data, prepare a simple line graph & answer the

following questions: 6M
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Number of International Tourists in India

Years Number of Tourists (In Lakhs)
6) 1995 a) 21

7) 2000 b) 23

8) 2005 c) 26

9) 2010 d) 42

10) 2015 e) 120

Questions: One mark each.

1) In which year highest number of tourists had visited India?
Ans- 2015

2) In which year lowest number of tourists had visited India?
Ans- 1995

3) In the year 2010, what is the number of tourists had visited India, inn lakhs?
Ans- 42 Lakhs
Q6 A- Marks-3

Simple line Graph — Number of International tourists in India

ma {,ff.|'7"‘('fy.'\"',.'fff.'.'."'a"'TTrIfT'{,'C?.’(fT":T"Y'?-':T?'.:.’.‘i
"Y'axis J cm = 10 lakhs tourists 3]
on ‘X'axis 2 cm = 5 years

ISEERE 25 ‘: ;

Scale : on
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OR

(B) Observe the following graph & answer the questions given below it: 6M

1) What does the graph show?

Ans- Indias Trade (% of GDP)

2) What was the contribution of trade in GDP in the year 2010?
Ans- 50%

3) Which year shows lowest trade in the given graph?

Ans- 1980
4) Which year shows highest trade in the given graph?

Ans-2010
5) What was the contribution of trade in GDP in the year 2016?

Ans —40%
6) Which year shows the 28% of GDP contribution?

Ans- 2010
Q7. Answer the following questions in detail:  (Any-2) 8M

1) Explain the historical background of India.

38




Ans- 1) India was ruled by British for more than hundred yrs. 2) India got
independence on 15" Aug 1947 3) India is a democratic, federal, and secular &
republic nation 4) India faced three big wars after independence with Pakistan,
China & Bangladesh

3) India has high no. of working population 5) India is globally recognized as a
developing nation. 5) Economically we are very strong nation

7) After independence India took various economic reforms.

8) India is self reliant in many areas.
Any related point can be considered for-1 M

2) Prepare a set of six questions for a field visit to a “Sugar factory”

Ans: 1) In which year sugar factory was started?
2)Which goods are manufactured in this factory ?

3) How many workers are working here?

4) Which raw materials are needed to make sugar?
5) To which places sugar is sent?

6) How many bags of sugar is produced per day?

7) What safety measures are taken for the workers?
8) Do the workers get good salary? How much?

Any related point can be considered for-1

4) Write in detail about wildlife in India.
Ans- 1) Diversified wildlife in India.
2) Elephants, tigers, lions are found.
3) Rinocerose in Assam.
4) Wild Ass & Camels | n desert.
5) Snow leopards in Himalayas.
6) Deer, Antelopes, monkey are found in peninsular India.
7) Turtles, crocodiles, gharials are found in rivers, estuaries, East & West coastal areas.
8) Peacock, Indian bustards, kingfishers, ducks, cranes, pigeons are seen in various
parts of India.
Any related point can be considered for-1 M

All the best
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GEOGRAPHY QESTION BANK
CLASS-X MARKS-40

Q1. Choose the correct options & complete the sentences: 4 M

1) India shares longest boundary with--------------
a) Bangladesh b) Pakistan c) China d) Nepal
2) --------- Is the national capital of India.
a) Jaipur b) New Delhi c¢) Chandigarh d) Mumbai
3) Populationwise , Brazil is the-------------- largest in the world.
a) Second b) Third c) Fourth d) Fifth
4) Sex ratio means the number of females per------------ males in a region.
a) Hundred b) Lakh c¢) Thousand d) Million
5) In areas which receives less than 500 mm of rainfall, ----------- forests are found.
a) Thorny & bushy b) Evergreen c¢) Deciduous d) semi-evergreen
6) In India thorny vegetation is found in the state of -----------
a) Maharashtra b) Goa ) Rajasthan d) Kerala
7) Indias per capita income is less than Brazil due to----------------
a) Low national income b) Massive population c) Big family
size d) Low food grain production
8) Brazil mainly exports ------------------ in the world market
a) Fertilizers b) Vehicles c) Coffee  d) Machinery

Q2. True or False 4 M

1) Sundarbans is the largest delta region in the world—True

2) To the western side of Aravalis, lies the Ganga Plains--- False

3) Field visit is an important study method in geography-- - True

4) In field visit students obey all the instructions of the teachers------ True
5) In northern part of Brazil there is dispersed type of settlements---True

6) The climate in the equatorial dense forest region in Brazil is healthy. ------ False
7) Equator passes through the northern part of Brazil. ----- True
8) Popular game of Brazil is football----- True

Q3. Answer the following in one sentence each: (Any-4) 4M

1) The country of Brazil is famous for which type of dance?
Ans- Samba Dance

2) Name the country to located to the north west part of India.
Ans. Pakistan

3) What type of settlements is found in the north Indian plains?
Ans- Nucleated settlements
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4) Which river basin of India is densely populated?

Ans- River Ganga basin

5) Name the highest peak in the Brazil.
Ans- Pico-de-Neblina

6) Lakshwadeep Islands are located in which sea?
Ans- Arabian Sea.

7) What type of climate is found in India/
Ans- Monsoon type.

8) Why do we find variety in climatic conditions of Brazil?
Ans- Latitudinal extent of Brazil is more.

9) Name the modes of transports in India-
Ans- Waterways, Roadways & Airways.

10) How many time zones are considered in Brazil?
Ans- Four Time Zones.

Q4. (A) Mark the following in the given map of India & give index. (Any-4)

1) Lakshwadeep Islands
2) Uttar Pradesh

3) Western Ghats

4) Western Himalayas
5) Kanyakumari

6) Mumbai Airport
7) Sikkim

8) Cold Desert

9) Kandla Port

10) Eastern Ghats
11) Highest salt producing state of india
12)  Capital of India
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(B) Observe the given map & answer the questions given below:
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1) Name the state having population density of 51-100 per sg.km.

Ans- Parana / Santa Catarina / Ceara/ Rio Grande Do Norte/ Paraiba/Paranambuco/ Segipe
2) Name the state having population density of 101-150 per sg.km.

Ans- Alagoas

3) Name the southern state of Brazil having population density of 51-100 per sg.km.

Ans- Rio Grande Do sul

4) Name the state having population density of 151-300 per sq.km.

Ans- Sau Paulo

5) What is the density of population Brasilia?
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Ans- More than 3000 per sg.km.
Q5. Give geographical reasons for the following: (Any-2) 6 M

1) As compared to Amazon pollution in river Ganga will affect human life greatly.
Ans- 1) Density of population is less in Amazon basin as compared to river Ganga. 2)
Number of industries is less in Amazon basin as compared to river Ganga. 3) As
population & industries is more in Ganga river area, pollution will affect human life
greatly.

2) There are no west flowing rivers in Brazil.

Ans-1) Most of the rivers in Brazil originate in Brazilian highlands. 2) The altitude of
Brazilian highlands gradually decreases from South to North & West to East. 3) The
rivers flowing in north direction meet North Atlantic Ocean & The river’s flowing in
south direction meet South Atlantic Ocean. Thus, there are no west flowing rivers.

3) Tropical cyclones occur rarely in Brazil
Ans- 1) In the northern coastal region near equator, the differences in the
temperatures are negligible. 2) In this region, the winds move vertically. 3) The
convergence zone of the trade winds is also found to be weak in this region.
Therefore, tropical cyclones occur rarely in Brazil.

4) There is not much difference in the range of temperature in Manaus.
Ans- 1) The location of Manaus is near equator. 2) As its effect, Manaus receives
perpendicular sunrays almost throughout the year. 3) The variation between the
annual average maximum & minimum is comparatively less. Therefore there is not
much difference in the range of temperature in Manaus.

5) A dense network of railways has developed in the North Indian Plains.
Ans. (1) The North Indian Plains are low lying. There are not many hills in this
region. The density of population in this region is quite high. 2) The agriculture,
trade, commerce, industries are well developed in the North Indian Plains. 3) The
need for transport of goods as well as need of passenger transport is very high in this
region. Therefore, a dense network of railways has developed in the North Indian
Plains.

6) Development of transport is important for the country's progress.

Ans. (1) Transport system helps in transporting goods from one place to another. It
also increases the mobility of people.

2) Transport facilitates the growth of agriculture, mining, fishing, tourism, banking
etc. sectors in an economy.

3) Transport system facilitates the internal as well as international trade and
commerce. It generates employment opportunities and helps in increasing national
income. Therefore, development of transport is important for the country's progress
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Q6 (A) With the help of given statistical data, prepare a bar graph & answer the
following questions: 6 M
India Trade (% of GDP) 1980- 2016

Years Percentage of GDP
1980 15
1990 16
2000 28
2010 50
2016 40

1) What does the graph show?

Ans- The graph shows India's trade (percentage GDP).

(2) What was the contribution of trade in GDP in the year 20107

Ans- The contribution of trade in GDP in the year 2010 was 50%.

(3) How much was a decrease in the percentage of GDP in the year from 2010 to 2016?

Ans - In the year from 2010 to 2016, a decrease in the percentage of GDP was by 10%.
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(B) Observe the following graph & answer the questions given below it: 6 M
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1) What type of graph is shown here?
(2) What does the graph show?

(3) Which country's tourism has a large share in the contribution towards GDP?
(4) Which country has a larger population engaged in tourism sector but contributes
lesser in GDP
(5) In India, how much percent is the contribution of tourism in its GDP?
(6) How much percent of Brazilian population is contributing in its tourism industry?

Ans. (1) Joint bar graph (2) Contribution of tourism in GDP and percentage of population
engaged in tourism (3) Brazil (4) India (5) Nearly 8.3% (6) Nearly 7.9%.

Q 7.1) Answer the following questions in detail: (Any-2) 8 M

A) What problems did Brazil and India face after independence? B)

How are Brazil and India different from each other in terms of location?
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Ans. Brazil and India faced the following problems after independence:
(1) After independence, Brazil faced many financial crises.
(2) Within 20 years after independence, India has fought three wars.

(3) After independence. People from various parts of India coped up with severe famine
situations. (4) After independence, India faced many financial difficulties and a problem of
slow rate of economic growth.

B) How are Brazil and India different from each other in terms of location?
Ans. Brazil and India are different from each other in terms of location as follows:

(1) Brazil is located in the Northern, Southern and Western Hemispheres.
2) India is located completely in the Northern and Eastern Hemispheres.
3) Brazil is located in the northern part of the continent of South America.
4) India is located in the southern part of the continent of Asia.

2) Prepare a questionnaire for an interview with a farmer during the field visit.
Ans. A questionnaire for interviewing farmer for a field visit to farm:

1) What is your good name? 2) For how many years are you practicing farming? 3) Which
crops are cultivated in your farm? 4) Give brief information about the crops grown in your
farm. 5) Which equipments are used for agriculture activities in your farm? 6) Do you use
fertilizers? Which types of fertilizers do you use? 7) What is the source of water to your
farm? 8) Do you use any specific type of irrigation for your farming? 9) Which types of
seeds are used by you? 10) How much is your yearly income approximately? 11) Do you
practise other occupations related to farming? 2) What problems are faced by you while
practicing farming?

3) (A) What items will you take with you for the field visit?

(B) What care will you take when you visit seashore?
Ans. (A) The items to be taken for the field visit:

(1) Notebook, pen, pencil, scale, camera, etc. to collect information.
(2) Compass for knowing directions and maps for understanding various locations.
(3) Questionnaire as per the purpose of field visit.

(4) Containers or bags for collecting samples of water/soil/rocks/plants/crops, etc. Also a
cap. A bottle of drinking water, first aid box, etc.

(B) We will take care of the following when we visit seashore:
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(1) While going for a field visit to seashore we will confirm the timings of high and low
tides.

(2) We will take a local guide while visiting seashore or a mountainous region. We will not
go to an unknown place.

(3) We will avoid taking a selfie near risky areas like sea cliffs or any other places in the
deep sea. (4) We will not enter into deep sea for swimming. (5) We will keep the seashore
clean. We will not litter. (6) We will follow all the instructions given by our teacher

4) Correlate wildlife & natural vegetation in India and Brazil.
Ans. (1) Natural vegetation is food of grazers / herbivores and many birds.

(2) Grazers / herbivores are the food of carnivores.

2) The regions having variety of natural vegetation also have variety of herbivores. As its
effect, carnivores are also seen on a large scale in these areas.

3) For example, deer are seen on a large scale in grasslands areas of Brazil. As its effect,
Jaguar is also seen in large scale in this region.

4) For example, insects in grass are food of Indian bustard. Therefore, Indian bustards are
largely seen in the grasslands of India.

5) Normally, variety of wildlife is seen in the areas with abundant natural vegetation.

6) For example, abundant natural vegetation is found in the northern region near the equator
in Brazil. As its effect, variety of animals and birds are seen in this region.

7) The lack of natural vegetation adversely affects the wildlife.

8) For example, in Thar deserts in India the natural vegetation is limited. As its effect
extremely limited species of animals and birds are seen here.

5) Suggest measures for the conservation of wildlife in India and forest conservation.
Ans. (A) Measures for the conservation of wildlife in India:
1) Restricting wildlife hunting. 2) Restricting wildlife trading.
3) Declaring more national parks and sanctuaries.
4) Giving more importance to endangered animals.

(B) Forest conservation:
1) Implementation programs of tree plantation
2) Creating awareness among people regarding forest conservation.

3) Controlling felling of trees.
4) Implementation programs like social forestry.
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